#### LOUISIANA UNIFORM PUBLIC WORK BID FORM

O: Aller Parish Poli	The second secon			CD Ma 002 01	0016			
P. O. Drawer G				S.P. No. 902-01-	100000000000000000000000000000000000000			
602 Court Street,				Allen Parish Air				
Oberlin, Louisian	1a 70655 ume and address of owner	-1		Runway 18 Nort				
(Owner to provide rid	the and data ess of owner	,		Owner to provide name of	of projec	ct and other identif	ying informa.	tion)
The undersigned bidder of comments, b) has not recorded and, c) has personally appliances and facilities completion of the reference of the comments. Inc.  Owner to provide name of entity	relived, relied on, or inspected and is far as required to performed project, all in stri- and dated:	based his to miliar with form, in a let accordan	oid on any verbal the project site, a workmanlike ma	instructions contrary and hereby proposes tenner, all work and	y to the to pro- servi	ne Bidding Doo vide all labor, r ces for the co	naterials, to enstruction	any
Bidders must acknowledg	e all addenda. The I	Bidder ackr	nowledges receipt	of the following Al	DDEN	DA:		
No. 1 Dated: 26 Jun	14	No I	Dated:	N	0	Dated:		
No Dated:		No I	Dated:	N	0.	Dated:		
BASE BID: For all wor	k required by the Ri	dding Does	ments (including	any and all unit price	ec but	not alternates)	the cum	r.
								1.
ALTERNATES: For any	y and all work require	red by the E	Bidding Documen	its for Alternates.	of:			
ALTERNATES: For any Alternate No. 1 (Owner to p	y and all work require provide description of alte	red by the E ernate and stat d eighty eig	Bidding Document to whether add or dedught dollars & zero	ocents Dollar Doublet for the lump sum	of: rs (\$ _ of:	554,688.00		and the state of
ALTERNATES: For any Alternate No. 1 (Owner to provide the No. 1) (Owner to provide the No. 2) (Owner to provide the No. 2)	y and all work require provide description of alter ousand, six hundred provide description of alter	red by the E ernate and stat d eighty eig ernate and stat	Bidding Document te whether add or dedi ght dollars & zero te whether add or dedi	ocents Dollar  Dollar  Dollar	of: rs (\$ _ of: rs (\$ _			
ALTERNATES: For any Alternate No. 1 (Owner to provide the No. 1) (Owner to provide the No. 2) (Owner to provide the No. 2)	y and all work require provide description of alter ousand, six hundred provide description of alter	red by the E ernate and stat d eighty eig ernate and stat	Bidding Document te whether add or dedi ght dollars & zero te whether add or dedi	ocents Dollar  Dollar  Dollar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		
ALTERNATES: For any Alternate No. 1 (Owner to provide the No. 1) (Owner to provide the No. 2) (Owner to provide the No. 2)	y and all work require provide description of alter ousand, six hundred provide description of alter	red by the E ernate and stat d eighty eig ernate and stat	Bidding Document te whether add or dedi ght dollars & zero te whether add or dedi	ocents Dollar  Dollar  Dollar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		
ALTERNATES: For any Alternate No. 1 (Owner to partie) Five hundred fifty four the Alternate No. 2 (Owner to partie) Alternate No. 3 (Owner to partie)	y and all work require provide description of alter ousand, six hundred provide description of alter	red by the E ernate and stat d eighty eig ernate and stat ernate and stat	Bidding Document te whether add or dedi ght dollars & zero te whether add or dedi te whether add or dedi	ocents Dollar  Dollar  Dollar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		\$ 100g
ALTERNATES: For any Alternate No. 1 (Owner to parties of the Property of the Alternate No. 2 (Owner to parties of the Alternate No. 3 (Owner to parties of the A	y and all work require provide description of alte ousand, six hundred provide description of alte provide description of alte Merrick Heavy M	red by the E ernate and stat d eighty eig ernate and stat ernate and stat	Bidding Document te whether add or dedi ght dollars & zero te whether add or dedi te whether add or dedi	ocents Dollar  Dollar  Dollar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		
ALTERNATES: For any Alternate No. 1 (Owner to partie) Five hundred fifty four the Alternate No. 2 (Owner to partie) Alternate No. 3 (Owner to partie) NAME OF BIDDER:	y and all work require provide description of alte ousand, six hundred provide description of alte provide description of alte Merrick Heavy M	red by the E ernate and stat d eighty eig ernate and stat ernate and stat ernate and stat	Bidding Document te whether add or dedi ght dollars & zero te whether add or dedi te whether add or dedi	ocents Dollar  Dollar  Dollar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		
ALTERNATES: For any Alternate No. 1 (Owner to perform the Alternate No. 2 (Owner to perform the Alternate No. 3 (Owner to perform the Alternate No	y and all work require provide description of alter ousand, six hundred provide description of alter or	red by the E ernate and stat d eighty eig ernate and stat ernate and stat lachine, LL	Bidding Document whether add or dedight dollars & zero to whether add or dedicte whether add or dedicte whether add or dedicte whether add or dedicte.	ocents Dollar  Dollar  Dollar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar  Dotlar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		1000 S
ALTERNATES: For any Alternate No. 1 (Owner to ) Five hundred fifty four the Alternate No. 2 (Owner to ) Alternate No. 3 (Owner to ) NAME OF BIDDER: ADDRESS OF BIDDER LOUISIANA CONTRA	y and all work require provide description of alter ousand, six hundred provide description of alter provide description of alter or ovide description or ovide description of alter or ovide description or	red by the E ernate and stat d eighty eig ernate and stat ernate and stat lachine, LL 1327 E NUMBE	Bidding Document whether add or deducted whether add o	pots for the lump sum cocents Dollar coct) for the lump sum Dollar coct) for the lump sum Dollar coct) for the lump sum Dollar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		\$ (0)
One million, twenty six the ALTERNATES: For any Alternate No. 1 (Owner to prive hundred fifty four the Alternate No. 2 (Owner to prive hundred No. 3 (Owner	y and all work require provide description of alter ousand, six hundred provide description of alter or	red by the E ernate and stat d eighty eig ernate and stat ernate and stat lachine, LL 1327 E NUMBE OF BIDD	Bidding Document whether add or deals aght dollars & zero to whether add or deals to whether add or deals as whether add or deals are whether add	ocents Dollar  Dollar  Dollar  Dollar  Dollar  Dollar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		
ALTERNATES: For any Alternate No. 1 (Owner to perfect to perfect the Alternate No. 2 (Owner to perfect to perfect to perfect to perfect the Alternate No. 3 (Owner to perfect the Altern	y and all work require provide description of alter ousand, six hundred provide description of alter or ovide description or ovide d	red by the E ernate and stat d eighty eig ernate and stat ernate and stat lachine, LL 1327 E NUMBE OF BIDD OF BIDD	Bidding Document whether add or deduction whether add ored or deduction whether add or deduction whether add or deduction	ocents Dollar  Dollar  Dollar  Dollar  Dollar  Dollar	of: rs (\$ _ of: rs (\$ _ of:	554,688.00		

\* If someone other than a corporate officer signs for the Bidder/Contractor, a copy of a corporate resolution or other signature authorization shall be required for submission of bid. Failure to include a copy of the appropriate signature authorization, if required, may result in the rejection of the bid unless bidder has complied with La. R.S. 38:2212(A)(1)(c) or RS 38:2212(O).

BID SECURITY in the form of a bid bond, certified check or cashier's check as prescribed by LA RS 38:2218.A is attached to and made a part of this bid. If a bid bond is provided it shall be on the attached form and only on the attached form.

O: Allen Parish Police Jury	y	BID FOR	: Base Bid
P.O. Drawer G			AIP NO. 3-22-0042-011-2014
602 Court Street	7.5.5		S.P. No: H.011345
Oberlin, Louisiana, 706			Allen Parish Airport  (Owner to provide name of project and other identifying information)
Owner to provide ritine and	dual ess of officery		(Owner to provide name of project and other identifying information)
			scribed as unit prices. Amounts shall be stated in figures and o
DESCRIPTION: Base Bid	or ☐ Alt.# Clearing and Grubbing		
REF. NO. QUANTITY	Y: UNIT OF MEASURE:	UNIT PRICE ,	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-151-4.3 9.7	Acre	550	5,335.00
DESCRIPTION: Base Bid	or Alt.# Muck Excavation	·	
REF. NO. QUANTITY	Y: UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-152-4.3 2,000	C.Y.	7.70	15,400.00
DESCRIPTION: Base Bid	or □ Alt.# Embankment In Place		
REF. NO. QUANTITY	Y: UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-152-4.7 6,790	C.Y.	22.00	149,380.00
DESCRIPTION: Sase Bid	or □ Alt.# Temporary Seeding and	Mulching	
REF. NO. QUANTIT	Y: UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-156-5.1 500	S.Y.	11.00	5,500.00
DESCRIPTION: Base Bid	or 🗆 Alt.# Temporary Sediment Co	ontrol Fence	
REF. NO. QUANTIT	Y: UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-156-5.5 2,600	L.F.	3.30	8,580.00
DESCRIPTION: Sase Bid	or □ Alt.# Baled Hay or Straw		
REF. NO. QUANTIT	Y: UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-156-5.6	Ton	440	440.00
DESCRIPTION: Sase Bid	or Alt# Bituminous Coated Meta	al Pipe Arch 35"X24" 14 Gage	
REF. NO. QUANTIT	Y: UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
D-701-5.1B 544	L.F.	105.60	57,446.40
The state of the s			

UNIT PRICE

203.50

UNIT PRICE EXTENSION (Quantity times Unit Price)

442,002.00

Wording for "DESCRIPTION" is to be provided by the Owner.

LF

QUANTITY:

2.172

REF. NO.

D-701-5.1D

All quantities are estimated. The contractor will be paid based upon actual quantities as verified by the Owner

UNIT OF MEASURE:

BID FOR: Base Bid

P.O. Drav	wer G	17		AIP NO. 3-22-0042-011-2014		
602 Court				S.P. No: H.011345		
	Louisiana, 70655 rovide name and add			Allen Parish Airport		
(Chiner to p	голае пате апа ааа	ress of owner)		(Owner to provide name of project and other identifying information)		
JNIT PRICES: T	This form shall be	used for any and all work require	ed by the Bidding Documents and d	escribed as unit prices. Amounts shall be stated in figures and		
DESCRIPTION:	⊠□ Base Bid o	or 🗆 Alt.# Four Inches (4") Con	nerete Pavement			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
D-752-5.4	1,370	S.Y.	30.80	42,196.00		
DESCRIPTION:	■Base Bid or U	Alt.# Five Inches (5") Concr	ete Pavement			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
D-752-5.5	710	S.Y.	37.40	26,554.00		
DESCRIPTION:	⊠Base Bid or U	☐ Alt.# Six Inches (6") Concre	te Pavement			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
D-752-5.6	150	S.Y.	44.00	6,600.00		
DESCRIPTION:	⊠ Base Bid or	☐ Alt.# 12" Inches Slab (40'x2	25'x2')			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
D-752-5.7	111	S.Y	88.00	9,768.00		
DESCRIPTION:	■ Base Bid or	☐ Alt.# Seeding				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
T-901-5.1	5	Acre	550.00	2,750.00		
DESCRIPTION:	■ Base Bid or	☐ Alt.# Top Soil on Site				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
T-905-5.1	41,706	S.Y.	2.20	91,753.20		
DESCRIPTION:	⊠ Base Bid or □ Alt.# Rip Rap (30#) (1.5' Thick)					
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
711-01	475	S.Y.	31.90	15,152.50		
DESCRIPTION:	■ Base Bid or	☐ Alt.# Mobilization				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
727-01	LOVE TOR	L.S.	1	40.200.00		

Wording for "DESCRIPTION" is to be provided by the Owner.

TO:

Allen Parish Police Jury

TO:	Allen Parish Police Jury	BID FOR: Base Bid
	P.O. Drawer G	AIP NO. 3-22-0042-011-2014
	602 Court Street	S.P. No: H.011345
	Oberlin, Louisiana, 70655	Allen Parish Airport
	(Owner to provide name and address of owner)	Owner to provide name of project and other identifying informatio

UNIT PRICES: This form shall be used for any and all work required by the Bidding Documents and described as unit prices. Amounts shall be stated in figures and only in figures. DESCRIPTION: ⊠Base Bid or □ Alt.# Haul Road and Wash Down REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE UNIT PRICE EXTENSION (Quantity times Unit Price) S-1 1,950 S.Y. 53.90 105,105.00 DESCRIPTION: Base Bid or □ Alt.# Erosion Control Blanket (Double Net) REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE UNIT PRICE EXTENSION (Quantity times Unit Price) S-2 845 S.Y. 2.20 1,859.00

DESCRIPTION:	☐ Base Bid or □	1 Alt.#		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)

DESCRIPTION: U Base Bid or U Alt.#

REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE UNIT PRICE EXTENSION (Quantity times Unit Price)

DESCRIPTION: ☐ Base Bid or ☐ All.#

REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE UNIT PRICE EXTENSION (Quantity times Unit Price)

DESCRIPTION: ☐ Base Bid or ☐ Alt.#

REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE UNIT PRICE EXTENSION (Quantity times Unit Price)

DESCRIPTION: U Base Bid or U Alt.#

REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE UNIT PRICE EXTENSION (Quantity times Unit Price)

Wording for "DESCRIPTION" is to be provided by the Owner.

O: Allen Par	ish Police Jury		BID FOR	R: Alternate No. 1
P.O. Drav	ver G			AIP NO. 3-22-0042-011-2014
602 Court				S.P. No: 11.011345
Oberlin, L	Louisiana, 70655			Allen Parish Airport
(Owner to pi	rovide name and add	ress of owner)		(Owner to provide name of project and other identifying information)
INIT PRICES: T	This form shall be	used for any and all work require	d by the Bidding Documents and de	escribed as unit prices. Amounts shall be stated in figures and only
DESCRIPTION:	The state of the s	☑ Alt.# 1 Embankment In Place	or, me phiang parametris and de	and the state of t
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-152-4.7	14,509	C.Y.	22.00	319,198.00
DESCRIPTION:	☐ Base Bid or I	☑ Alt.# 1 Temporary Seeding and N	Aulching	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-156-5.1	1,000	S.Y.	11.00	11,000.00
DESCRIPTION:	☐ Base Bid or l	☑ Alt.# 1 Temporary Sediment Cont	rol Fence	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-156-5.5	2,650	L.F.	3.30	8,745.00
DESCRIPTION:	☐ Base Bid or I	☑ Alt.# 1 Baled Hay or Straw		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
P-156-5 6	1	Ton	440	440.00
DESCRIPTION:	☐ Base Bid or I	X Alt.# 1 Four Inches (4") Concrete	Pavement	
REF. NO.	QUANTITY:	UNIT OF MEASURE;	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
D-752-5 4	2,140	S.Y.	30.80	65,912.00
DESCRIPTION:	☐ Base Bid or	☑ Alt.# 1 Five Inches (5") Concrete	Pavement	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
D-752-5.5	415	S.Y.	37.40	15,521.00
DESCRIPTION:	☐ Base Bid or	☑ Alt.# 1 Top Soil On Site		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
T-901-5.1	8	Acre	10,780.00	86,240.00

UNIT PRICE

1

UNIT PRICE EXTENSION (Quantity times Unit Price)

40,240.00

Wording for "DESCRIPTION" is to be provided by the Owner.

QUANTITY:

DESCRIPTION:

REF. NO.

727-01

☐ Base Bid or ☑ Alt.# 1 Mobilization

1.8

UNIT OF MEASURE:

	ish Police Jury		AID FOR: Alternate No. 1			
	O. Drawer G 02 Court Street 0berlin, Louisiana, 70655 0wner to provide name and address of owner)			AIP NO. 3-22-0042-011-2014		
			S.P. No: H.011345  Allen Parish Airport  (Owner to provide name of project and other identifying information)			
Oberlin, I						
			(Owner to provide name of project and other identifying information)			
NIT PRICES: T	his form shall be	used for any and all work require	d by the Bidding Documents and d	escribed as unit prices. Amounts shall be stated in figures and only in		
DESCRIPTION:	☐ Base Bid or I	X Alt.# 1 Erosion Control Blanket (				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
S-2	3,360	S.Y.	2.20	7,392.00		
DESCRIPTION:	☐ Base Bid or □	J ∧It.#				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
DESCRIPTION:	☐ Base Bid or □	) Alt #				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
KEF, NO.	QUANTITY.	UNIT OF MEASURE.	ONTTRICE	CNIT FRICE EXTENSION (Quantity times Chit Price)		
DESCRIPTION:	☐ Base Bid or U	→ Alt.#				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
DESCRIPTION:	☐ Base Bid or U	J Alt.#				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
DECOMPTION	D D	3 40 #				
DESCRIPTION:	Base Bid or		UNIT PRICE	UNIT DDICE EVTENCION O		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
OUGGDIPTION.	☐ ☐ Base Bid or I	TAR #				
DESCRIPTION:		·	LINIT PRICE	LIMIT DRICE EVITENCIAN O		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
DESCRIPTION:	☐ Base Bid or l	□ Λlt.#				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
and the second s						

Wording for "DESCRIPTION" is to be provided by the Owner.

#### BID BOND FOR

1931 d D 1 G 1 - D 1

Kunway 18 Nort	h Dramage Culvert Project
	Date: July 1, 2014
KNOW ALL MEN BY THESE PRESENTS:	
	of 8544 Hwy 114, Cottonport, LA 71327 , as Principal, , as Surety, are held and firmly bound (Obligee), in the full and just sum of five ng all alternates, lawful money of the United States, for payment elves, our heirs, executors, administrators, successors and assigns,
Service list of approved bonding companies as apprit obligates itself in this instrument or that it is a Lot the latest printing of the A. M. Best's Key Rating	urrent U. S. Department of the Treasury Financial Management roved for an amount equal to or greater that the amount for which uisiana domiciled insurance company with at least an A - rating in Guide. If surety qualifies by virtue of its Best's listing, the Bonds' surplus as shown in the latest A. M. Best's Key Rating Guide.
	d to do business in the State of Louisiana and that this Bond is I Bond is accompanied by appropriate power of attorney.
THE CONDITION OF THIS OBLIGATION its proposal to the Obligee on a Contract for:	ON IS SUCH that, whereas said Principal is herewith submitting
time as may be specified, enter into the Contract	be awarded to the Principal and the Principal shall, within such tin writing and give a good and sufficient bond to secure the ontract with surety acceptable to the Obligee, then this obligation educ and payable.
Merrick Heavy Machine, LLC PRINCIPAL (BIDDER)	Philadelphia Indemnity Insurance Company SURETY
BY MILY OFFICER-OWNER-PARTNER	BY: AGENT OR ATWORNEY-IN-I/ACT(SEAL) Anthony J. Kennedy. Attorney-in-Fact  Countersignature Anthony J. Kennedy LA Resident Agent
J	

#### PHILADELPHIA INDEMNITY INSURANCE COMPANY

One Bala Plaza, Suite 100 Bala Cynwyd, PA 19004 Power of Attorney

KNOW ALL PERSONS BY THESE PRESENTS: that PHILADELPHIA INDEMNITY INSURANCE COMPANY (the Company), a corporation organized and existing under the laws of the Commonwealth of Pennsylvania, does hereby constitute and appoint: Harriett D. Lafleur, Stephen J. Gaffney, Charles R. Landry, Jack B. Stehr, Jr., Anthony J. Kennedy, Lacie P. Stacks and Godfrey Marine of Regions Insurance, Inc.

Its true and lawful Attorney(s) in fact with full authority to execute on its behalf bonds, undertakings, recognizances and other contracts of indemnity and writings obligatory in the nature thereof, issued in the course of its business and to bind the Company thereby, in an amount not to exceed \$25,000,000

This Power of Attorney is granted and is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of PHILADELPHIA INDEMNITY INSURANCE COMPANY at a meeting duly called the 1st day of July, 2011.

RESOLVED:

That the Board of Directors hereby authorizes the President or any Vice President of the Company to. (1) Appoint Attorney(s) in Fact and authorize the Attorney(s) in Fact to execute on behalf of the Company bonds and undertakings, contracts of indemnity and other writings obligatory in the nature thereof and to attach the seal of the Company thereto; and (2) to remove, at any time, any such Attorney-in-Fact and revoke the authority given. And, be it

FURTHER RESOLVED:

That the signatures of such officers and the seal of the Company may be affixed to any such Power of Attorney or certificate relating thereto by facsimile, and any such Power of Attorney so executed and certified by facsimile signatures and facsimile seal shall be valid and biding upon the Company in the future with the respect to any bond or undertaking to which it is attached.

IN TESTIMONY WHEREOF, PHILADELPHIA INDEMNITY INSURANCE COMPANY HAS CAUSED THIS INSTRUMENT TO BE SIGNED AND ITS CORPORATE SEALTO BE AFFIXED BY ITS AUTHORIZED OFFICE THIS 7<sup>TH</sup> DAY OF FEBRUARY 2013.



Rowner

Robert D. O'Leary Jr., President & CEO Philadelphia Indemnity Insurance Company

On this 7th day of February 2013, before me came the individual who executed the preceding instrument, to me personally known, and being by me duly sworn said that he is the therein described and authorized officer of the PHILADELPHIA INDEMNITY INSURANCE COMPANY; that the seal affixed to said instrument is the Corporate seal of said Company; that the said Corporate Seal and his signature were duly affixed.

NOTARIAL SEAL OANIELLE PORATH, Notar Lower Merion Twp., Montgom My Commission Expires Merc	ry Public	Dernel a_	
	residing at:	Bala Cynwyd, PA	
(Notary Seal)	My commission expires:	March 22, 2016	

I. Craig P. Keller, Executive Vice President, Chief Financial Officer and Secretary of PHILADELPHIA INDEMNITY INSURANCE COMPANY, do herby certify that the foregoing resolution of the Board of Directors and this Power of Attorney issued pursuant thereto are true and correct and are still in full force and effect. I do further certify that Robert D. O'Leary Jr., who executed the Power of Attorney as President, was on the date of execution of the attached Power of Attorney the duly elected President of PHILADELPHIA INDEMNITY INSURANCE COMPANY.

In Testimony Whereof I have subscribed my name and affixed the facsimile seal of each Company this 1st day of July 20 14

1927

(Seal)

Craig P. Keller, Executive Vice President, Chief Financial Officer & Secretary PHILADELPHIA INDEMNITY INSURANCE COMPANY

#### CERTIFICATION AS TO CORPORATE PRINCIPAL

I Emily Lemoine	, certify that I am the Secretary
of the Corporation named as	Principal in the within bond; that
Emily Lemoine	who signed the said bond on behalf of the
Principal was then Secre	tary-Treasurer
of said corporation; that I k	now his/her signature, and his/her signature thereto is genuine;
and that said bond was duly	signed, sealed, and attested to on behalf of said corporation by
authority of this governing l	Secretary-Treasurer (Corperate Seal)
I, ANTHONY J. KENNEDY	CERTIFICATE AS TO SURETY , certify that I am the _ANTHONY J. KENNEDY, ATTORNEY-
IN-FACT of the	e Surety who signed the bond, I certify that we are licensed to do
business in the State of Lothe Treasury as acceptable  ANTHONY J. KENNEDY, A.	

Power of Attorney for person signing for surety company must be attached to bond.